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Polinom / Polynomial

1. Asadida verilen fonksiyonlardan hangileri polinom- 5. PWX) = XT":_‘“ R
dur?
Which of the following functions are polynomial? P(x) polinom ise n kag farkl deger alir?
I f(x) =x2+5x -3 If P(x) is a polynomial how many different values could
I g(x) = VX +7 " take?
M. h(x)=v2.x+3 " B) 4 03 D)2 B 1
IV, t(x) =0
A) f(x) B) f(x), t{x) C) t(x)
D) f(x), h(x), t(x) E) h(x), t{x)
5
2. P(x) =x" —2x"-% 4+ 58 6. P(X)=4x+k-1
P(x) polinom ise n kagtir? P(1) =13
If P(x) is a polynomial what is the value of n? = k=7
A) 12 B) 6 C)3 D)2 E)1 A) 10 B) 8 C)e D)5 E) 4
3. P(x)=8.x""%+3x8""+1 7k P@x+1)=x@+x+1
P(x) polinom ise n kag farkh deger alir? = P)+P(7)=7?
If P(x) is a polynomial how many different values could
6d :a.paly Y Y A) 60 B) 45 C) 30 D) 15 E) 14
e FESTTU.com
A)6 B) 5 C)4 D)3 E)2
4, P =2x8+9x® -5 8. P() =5x% + x5 - 3x% + 1
der [P(x)] = = P@2)=?
A)9 B) 8 C)5 D) 2 E)-5 A) 44 B) 40 C) 39 D) 38 E) 10




9. P(x)=3x2"P4+x2+xP-242
P(x) polinomise Pla-b+1)=?

P(x) is a polynomial P@a-b + 1) =7

om / Polynomial

13. P(x, y) = X% — 2xy + y®

= P(37,27)=7

A) 370 B) 120 C) 100 D) 37 E) 27

A)3 B) 5 C)6 D)7 E) 10
10. P =(m-3)x5+ (m-1)x*+3 14,  Plx-2)=2x*+3x-4
P(x) bir polinom ise P(-2) =? P(5x - 3) polinomunun katsayilar toplami kagtir?
P(x) is a polynomial P(- 2) = ? What is the sum of coefficients of P(5x — 3) polynomial?
A) 35 B) 33 C) 22 D) 20 E) 11 A) 40 B) 38 C)35 D) 33 E) 30
11. P(x) =x®+3x2+3x + 3 15. Px+2)=3x2+12x +1
= P(Y7-1)=2 = P(V3)=2
A) 10 B) 9 C)8 D)7 E) 6 A} -2 B) 0 o)1 D)2 E) V3
12. P)=(b+2)x2+(@a-b+5x+a.b 16. P(3x-2)=x%-3x% - 4
P(x) polinomu sabit bir polinom belirttigine gore, P(x + 1) polinomunun sabit terimi kagtir?
P(2020) degeri kagtir?
What is the constants term of P(x + 1) polynomial?
As the polynomial of P(x) is a constant polynomial,
what is the value of P(2020)? A -4 B)-9 C)-8 D)-7 E)-6
A) 2020 B) 14 C)7 D)-7 E)- 14
m 1-D 2-B 3-C  4-B 5-B 6-A 7-E 8-C 9D 10-E 11-B 12-B 13-C 14-A  15-A  16-E




Polinom / Polynomial

1. A,BER
6x-10 _ A B
x2-6x+5 x-5 x-—1
= A=7
A) 6 B)5 C) 4 D) 2 E) 1
2. PO+ Q) =x"-x*-2x+5
Q-x)=-x5-2x* -x+3
= P(x)=?
A)x*-3x+2 B)-x*-3x+2
B) x*+3x-2 D)-x*+3x+1
E)-x*+3x+2
3. 43

->7
II-+m

II%PM
= P(x)+ F(E’) =2

A x2+x+8

FESTTI

B)x2—x—8
B) x2 - x + 58 D) x2 + x+ 11

E)x2 + x+ 58

4, P(x) = Ax® + Bx2 + Cx + D
P(1) =P(3) = P(- 1) =0
P(0) =3
= P@2)=2?
A) 3 B) 2 C)-2 D) -3
5. (@Bx-10=A¢+Bx®+Cx®+Dx +E
= A+C+E="7?
A) 130 B) 134 C) 136 D) 140
6. P(x) = (x+2)* +3(x+ 1)3
P =a,.x"+a, %3 +a,.x*+a,.x+a,
= a;=?
A) 41 B) 39 C) a7 D) 35
J.com
7. abezZ+
P(x) = (x + @)+ (x + b)
P() =15
= a+b=?
A) 6 B) 7 C)s D)9

E) -1

E) 150

E) 33

E) 10




8.

10.

11.

Polinom / Polynomial

P(X) =3x2+ mx +n 12. -3 +alx-1
P(1) - P(0) =2 =
0
= P@)-P(1)=7?
= a="7?
A)9 B) 8 C)6 D)5 E)4
A) -2 B) - 1 C)0 D) 1 E)2
P+ 1)t (x+ 1) 2=+ b8 . .. +mxt+. .. +k 1a. der [Pp] = 3
= m=? = der[P2(x%)]=2
A) 5 B) 10 C) 15 D) 20 E) 25 A 81 B) 18 o 12 D)8 £3
= oy10 _ 5
diir [P(x) .Q] =10 14. P(x) =2x10 - x5 + k
Pix) | _ P(x)[x5-3
der [ ) ] =4 }7
= der[x2.P(x) +x.Qx)]=2 4
A) 13 B) 11 c)9 D) 8 E)7 = k=?
A) 11 B) 5 C)3 D) - 11 E) - 21
FESTTU.com
Pozitif katsayili P(x) polinomu
P(x) positive coefficient polynomial 15: P{) polinom,
P(x) . P(3x) = 125 — 8x + 1 PR peisnomg
_ 3 _oy2, 8 + 1
= Px)=? P(x) = x3 - 2x° + X
= P(a)=7?
A)2x +1 B)x+2 Cyx-2
D) 2x - 1 E)2x -2 A3 B) 1 C)-3 D) -1 E)0
1-B 2-A 3-E 4-D 5-C 6-A 7-A 8-B 9-B 10-C 11-D 12-E 13-B 14-D 15-C




2.

Polinom / Polynomial

3% - 2%2 + x + 1 = P(x) [mod(x2 + 1)]

= P(X)=?

A)-2x-3 B) -2x+3

D) 2x +3 E)1

der[P()]=5
der[Q()] =7
= der2.P(x) +x.Q(x2)]=?

A) 14 B) 15 C) 16 D) 17

YxER
x-5=a®-1) +bx(x-1) —c(x+1)

= a+b+c=7?

A) 1 B) 3 C)4 D)5

FESTTI

PO [ —x+ 1
B(x)

K(x)

der [B(x)] = der [Kp9] - 1

= max [F'(x)] =7

A) 24 B) 23 C) 17 D) 16

C)2x-3

E) 18

E)7

E) 15

5. PX)=2x2-x+5
= P(x?)=7?

A) 4x* —x2 +5 B)2x*+x2 +5
C)2x* -x2+5 D) 4x* +%% +5
E)yx*-x2+5

6. POC+x+1)=3x2+3x+5
= P(20)=?
A) 60 B) 61 ) 62 D) 63 E) 65
7. (B=1).Qx+1)=xE+mx+n
X2 —1[Q(x)
B{x)
= BXx)=?
A) x B)x+1 C)x-1
D) x+2 E)x-2
J.com
8. P(x) = (x + 2)2020 — 2(x + 2)2018
P(x) | x B(@2x +5) |2x -2
B(x)
K
= K=7?
A) 7202{} B) 72018 C) 52019
D) 92019 E) 32019




9. X>6
P{x) = (654321), - (1234),
= P(1)=?
A) O B) 2 C)s D) 10 E) 11
PX)+x o
10. _—O(xg1)+2_x 3x
P(x) polinomunun katsayilar toplami 13 ise Q(x) po-
linomunun sabit terimi kagtir?
If the sum of the coefficients of P(x) is 13 what is the
constant term of Q(x) polynomial?
A)-9 B)-7 C)-4 D)-2 E)-1
15 Px)=3x%+a
Q) =(b-2)x3+ (c+1)x2-4
P(x) = Q(x)
= a+b+c=7?
A)5 B) 4 )1 D)o E)-1
12. PO =x2 - 2x + 1

Q(x) =2x2 - 3x — 1
P(x) + R(x) = 2Q(x)

Polinom / Polynomial

13. P(x) = 2x% - x
Q) =x3 +1

= P(1).Q()=2?

A) 5 B) 4 C)3 D)2 E) 1
14. P(2x=-5)-P@x-4)=x®+x+1

= P(1)-P(5) =2

A) 15 B) 14 ©) 13 D) 12 E) 11

= Rx) =7

A) 3x2 - ax B)3x2 -3 C)3x2 - 4x -3
D) 3x2 + 4x - 3 E)3x?2-8x-3

i 2-B 3A 4D 5C 6C 7B 8D

15. P)= (xS +4x-23+3) . (-x*+ 23 - 3x2 + 5)
Q) =ag.xI+a5. X8+, .. +a, . x+4q,
P(x) = Q(x)
= ag="?
A)16  B)14  C)-12 D)-14 E)-16
U.com
16, 2% -3 +2x+5(x2 -1
B(x)
K(x)
= BMX)+KXx) =7
A) 2x2 - 3x + 2 B) 2x2 —4x + 9 C)7-x
D) 2x2 - 5x + 1 E)2x2 +2x -3
9-E 10-A 11-D 12-C 13-D 14-C 15-E 16-B




Polinom / Polynomial

P(x) = x2020' 4 2x® _ 5

Q) =x2-x+1

P(x) | Qlx)

at + 4a%-8 B
aZ+2
Aab-as-4a*-4 B) a®-3a* -4
C)a®-2a*+4a2-4 D) af - 2a% +4a -3

E)af-3a%+ 1

P(x) =2x2 + mx + 4
P(x;) =P(x;) =0
XK #EX X +X=2.% X%,

A -2 B)-4 C)-86

P(x, y) = x5 + 2x3y3 + 3x2 - 4y*

= der[P(x,y)] +P(,0) =2

A6 B) 7 c)8

D)EES-'ITJI'U.Tpom

P(X)=x.(x+3)3.(x+5)°
Q) =x2. (x+3) . (x+5)°
EKOK(P(x), Q(x)) _

= EBOB(P(X), QW) ~
A)X. (X +3)2. (x +5)2 B)x2. (x +3)
Cyx2.(x+3).(x+5) D) x. (x +3)

E)x.(x+3).(x+5)?

P(x) =ax? +bx + ¢
A={0,1,2,3,4,5,6,7,8, 9}
aEA bEA cEA
P(— 3) =0

3
derllP()] =2

kag farkli P(x) polinomu yazilabilir?

How many different P(x) polynomials can be written?

A7 B) 6 C)5 D) 4 E)3

P)=x+1)+xX+2)+xX+3)+...+(x+19)

QX)) =X+ N+ X+2)+...+(X+5)

P(x) [Q()

K

= K=7?

A) 19 B) 20 C) 133 D)134  E)190




Polinom / Polynomial

8. Qx+2)=ax® +bx +c 12. PR =1+x+x2+x3 4. .. +x2019

Qx+3)=x5+3x*-6

P(x2 - x) | x2 - x + 1
= a+b+c=7?

A6 B)5 C)-5 D)-6 E) -1 K

A) -2 B) - 1 c)o D) 1 E) 2

9. P(x) = Ax® + Bx2 + Cx+ D
P{1) =1 P(2)=3
P@)=5 P(4)=6

> P7)=7
13. P(x) = x3 + ax? + bx + 4
A7 B) -7 0)3 D) -3 E)9
P(X) [ (x + 1)2
3x -1

= a+b=7?
10. P(x) = x5 — 16x5 — 18x* + 18x® — 15x2 — 34x + 3

A1 B) 5 C)7 D) 14 E) 21
P(x+5)[x-12
K
= K=7?
A)0 B)1 2 D)3 E)12 14. P = (x+1)4+ (1 -x%+ x4
=1
= P()=7?

FEST“U.gnq?m

B) -6 C)1+i D) i E) 4i
11. P(- x) = - P(x)

P(x) [x-2 P(x) [x2 - 4

4 K(x)
- 2
o K(x)=? 15. PR = (140 +x3)(1 +xH(1 +x8)
> 6.P(M+1=2
A)2x -4 B)2x + 4 C) 2x
D)2x-5 E)2x+5 A) 78 B) 76 C) 188 D) 86 E)O

1 1-B 2-C 3-D 4-E 5-A 6-A 7-C 8-D 9-B 10-D 11-C 12-C 13-E 14-A 15-B




Polinom / Polynomial

s P(X) x+5 PX) [x+2 )| %2 + 7x + 10 5. PR+ oy
Y Q-3
Y 5 KA P [x-9  Qm|x-1

= Kx)=7?
K 7
A) 2x -3 B) x + 4 C)x-1
= K=7?
D) 3x + 16 E) 2x + 11
A) 149 B) 147 C) 21 D) 19 E) 10
2. Px—1)+P(x+1)=4x2-2x+ 10 6. Px)=x®+x2+4 = P(x) =3x% + 2x
= P(x)=? Q) + Q') = (x + 1)2
10)=7?
A)2x2 —x+3 B)2x2 +x + 3 C) 4x2 -1 = ago)
D) 4x2 + 1 E) 5x2 + 1 A) 11 B) 101 C) 1001 D) 25 E)1

3. P(ax + b) =a - bx 7. PO |x -1 Q) |x -1 3P(X) +1.QX) [x - 1

= P(0)=2?
—4 6 0
2 2 2 2
pErb B)2a+b ol
° 2 = t=7?
p) =L ) B
A FESTTU.com &s-2 o Dz B3
4. P(x) + P(2x) + P(3x) = 14x® + 3 8. X2 - 1)(pxZ +gx+1) +3x +5=P(x)
Ax* +Bx®+Cx2+Dx+E=Q
= PX=? e *)
P(x) = Q(x)
A) x2 B) 2x2 + 1 C)x2+3 = A+C+E=7?
D) X2 + 1 E)x2-3 ) 10 B) 8 05 D)4 B




Polinom / Polynomial

9. Px)=x*+ax® +bx2 +cx + d 12. P)=x®+ax2+5x+b
P(-1) = P(20) = 0 QW) =3+ x
= P(0)=? P(x)'()(i
A) 2 B) 4 )5 D)6 E)7 =
12x-3

= a-b="7?

A) -4 B)-3 C)-2 D) -1 E)O

10. P(x) = X2 — 47x + 53

P(x) |x—m P(X)|x-n
13. Px)=2x3-x+8

Px-2)=x.Q(x+1)

0 0
= Q@3)=?
ua+v%=v’r_n+\/ﬁ
A)8 B)7 C)6 D)5 E) 4

= b2-a2=7

A) B B) 47 C) 80 D) 530 E) 600

14.  P(x-1)+Px) =6x-5

= P(5)=?

A) 11 B) 12 C)13 D) 14 E) 15
11. P(x) bir polinom, F EST_-U .Ccom
P(P(x)) =9x + 28
P(x) agsadidakilerden hangisi olabilir?

If P(x) is & polynomial, which of the following can be the

3 I P
value of P(x)? 15. xX-2). PR =x+mx2+x+2
= P@)=?
A ex+7 B)x+7 C) 3x+ 1
D)3x+7 E)2x + 15 A) -1 B) 0 o)1 D)2 3

1-E 2-A 3-C 4-D 5-B 6-B 7-D 8-C 9-B 10-E 11-D 12-8B 13-E 14-D 15-C




Polinom / Polynomial

1 P@x+1)-Px+2)=ax?t -x-3 4. P(x) = x® + x + 2P(1)
= P(11)-P(7)=? = P(3)=?
A) 92 B) 93 C) 94 D) 95 E) 96 A) 8 B) 16 C) 20 D) 26 E) 32
2. Px)=(a-2)x®+5x2+bx+a+1 5. P(x) = 2020 _ 2019
der [P(x)] - P(2) =m (mod 5)
= m=7?
ise P(x) polinomunun sabit terimi kagtir?
If P(x) is a polynomial, what is the constants term of P(x) A0 B) 4 €3 D)2 B)1
polynomial?
A1 B) 2 C)3 D) 4 E)5
6. P(X)=x2 —dx+m+2
P(x,) =P(x,) =0
xi= Xa
3. AY P Ay
(1| e e / = P(m)=7?
| N
A)O B) 1 C)2 D)3 E) 4

-1

Wiz -

PO |QX)

= T FESTTU.com

K i< Bx-2P=a+b@+cx+d
= a+b+c=7?
= K=7?
A) 8 B)9 C)10 D) 11 E) 12
A) 125 B) 25 C)5 D)1 E)O




8.

11.

P() =x+1
Qx) = x2

= P2(Q(1)) + Q2(P(2)) = 2

A) 11 B) 12 C)13
P(x) | x2 - 2x
Q(x)
4x + 1
= B{x)=7?
A x.Qx) -4
C)x.Qx) +4
E)x.Qx) +2
1\ X
P(X * _{) T X241
= PFJ+PQ-H=?
5
A) 12 B) 13 C) 14
P(x)=ax®+bx +¢c
P(1)=P(@2) =0
= o =7
b
2 3
A< B~ C) 1
1-A 2-C 3-A 4-D

D) 85

PX)|x -2
B(x)

B) x. Q(x)
D)x.Qx) -2

D) 15

FESTT

) o

5-C 6-A

E) 86

E) 16

7-B

12, (x+1).P=aC+(b-2x+a-1

= a+b=7?

A) 3 B) 4 05 D)6 E)7

13. P(x) + PO®) + PO + ...+ P(x7) =x17 - 4x + 54

= P(-1)=?

11 17
D) — E) —
= )

A} 17 B) 15
) ) 3

)M

14. 23+ 4+ 3% +3=(x+3). (@2 +bx+0)

= a-b+c=7?

A) O B) 1 C)2 D)3 E) 4

15. P(x) polinomunun x2 + 2 ile bélimiinden kalan x — 1 ve
Q(x) polinomunun x2 + 2 ile baliimiinden kalan x - 3 ol-
duguna gore,

"U.corro-x o

polinomunun x? + 2 ile béliimiinden kalan kagtir?

If the remainder of the polynomial P(x) dividing by
x2+2is x — 1 and remainder of the polynomial Q(x)
dividing by x2 + 2 is x - 3, then what is the remainder
of the polynomial x2 . P(x) — x . Q2(x) dividing by

8-D

X2 4 27
A)-9x-10 B) -9x + 10 C)-%+7
D) 2x+ 10 E)O
9-C 10-C 11-E 12-B 13-D 14-B 15-A




Polinom / Polynomial

1. P(2x - 1) polinomunun katsayilar toplami 3a - 7,

P(x + 1) polinomunun sabit terimia + 1isea="?

The sum of coefficients of P(2x — 1) polynomial is
3a -7, the constant term of P(x + 1) polynomial is a + 1

=>a="7?

B) 4 C)5 D)6 E)7

2. (P-x+2tzay; xf+a,. X+, 48, % +8,.X+3,
= ag+a;+3,+a,="7?
A) 100

B) 108 C) 110

D) 120 E) 136

3. (-29-(x+1)P =ag 8 +a, X +ay X3 +ae X2+ 2, X+3

= a;+ag+ag="?

A) -8 B)-6 C)-4 D) -2 E) -1
4, PX)=x*+23 -2 +3x—1
Q) =x2+1
P(x) [ Q(x) B{x) |[x -2
B(x)
K

= K=7?
A6 B)7 c)8 D)9 E) 10

5. P(x,y) =2x2 + 2y2 — 4xy — 3x + 3y - 3

P(x, y) polinomunun (x -y + 4) ile béliminden ka-

lan kagtir?

What is the remainder of the polynomial P(x,y) dividing

by (x-y+4)?

A) 37 B) 38 C) 39 D) 40 E) 41
6. P(x) = 3x% — 5x18 - 2

P(x) polinomunun (x° + v3) ile béliimiinden kalan

kactir?

What is the remainder of the polynomial P(x) dividing

by (x + v3)?

A) 8 B) 9 C) 10 D) 11 E) 12
7. PX)=x®+ax?+bx+c

P(1) =P@) =P(5) =7

= P@O)=?

A) -8 B) 8 C)-4 D) 4 E) 1
8. PX) =32 +mx+n

P(1) - P(0) = 2
= P(2)-P(1)=?
AT B) 8 C)9 D) 10 E) 11




13.

PX)=X+7)" "+ (x+8)""-1
P(x) polinomunun (x + 7) . (x + 8) ile tam bélinmesi
igin n i¢in agsagidakilerden hangisi dogrudur?

The polynomial of P(x) to be completely divided with
(x +7) . (x + 8) which on of the following is true for "n"?

An=2k kEZ Byjn=2k+1, kKEZ

C)n=2k, kKEZ* Dyn=2k, kEZ-

Eyn=2k-1, kEZ"

9. a ve b tamsay,
P(x)=x2-2x+a
Q) =x2+3x +b
P(X1) = P(Xz) = Q(X1} =0
= a+b=?
A-6 B-5 C-4 D-3 E-2
10. P)=1+x+x2+x3+ ... +x50
PX) [x -1
B(x)
= B(1)=?
A) 1326 B) 1275 C) 1150
D) 50 E)O
11. P)=23 +ax2 + bx+c+1
P(x)|x2 -1
B(x)
B(x)
= b+c="?
A) -2 B) - 1 C)0 D)1FE§3|__
12 P(X) | x+ 1 P(3x + 8) | Q(¥)
o ] 0
= QX =?
A)x+1 B)x+2 C)x+3
D)x-2 E)x-3
m -8 2D 3C 4A 5SE 6C 7-A 8B

14. AX) | Bx) B(x) | C(¥)
x4+ tlx=-2
3 2
AR | x+1). (x=2)
D(x)
= D(x)=7?
A)2x+7 B)2x+5 C)2x+3
D) 2x ~1 E)2x-3
15. PX) X2 -x-2 P2(x) | %2 - x - 2
2x+ 3 K(x)
= K(x) =2
U.com
A) 16x +17 B) 15x + 10 6).8
D)X+ 1 E) x- 1
16. n>1, nEN
P(x) =x"+1+x "1 - 10x5
P() = (x=3) . Qx)
=2 n=7?
A) 5 B) 6 7 D) 10 E) 12
9-D 10-B 11-B 12-C 13-D 14-B 15-A 16-B






